Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may differ, please be patient and thank you for your understanding.
Unser Produkt wird Ihnen in 2 Paketen geliefert. Die Lieferzeiten dieser 2 Pakete
kénnen abweichen, bitte haben Sie etwas Geduld und vielen Dank fur lhr
Verstandnis.

Notre produit vous sera livré en 2 colis. Les délais de livraison de ces 2 colis
peuvent différer, soyez patient et merci de votre compréhension.

Notre produit vous sera livré en 2 colis. Les délais de livraison de ces 2 colis
peuvent varier, soyez patient et merci de votre compréhension.

Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may differ, please be patient and thank you for your understanding.
Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may vary, please be patient and thank you for your understanding.

N620P170672W
N620P173065W







N620P173065W

@ 800 x 410 x 37 mm

Y

1 S

@ o x 393 x 15 mm

800 x 410 x 37 mm

1

@ 534 x 360 X 12 mm

2




N620P170672W

1200 x 450 x 25 mm

180 x 135 x 18 mm

1

/ © / ®

1160 x 415 x 15 mm

180 x 135 x 18 mm

1

535 x 60 x 15 mm

2

539 x 160 x 15 mm

1

"
<

1200 x 280 x 25 mm

1

539 x 160 x 15 mm

1

O

250 x 150 x 15 mm

1

300 x 115 x 12 mm

2

v

250 x 150 x 15 mm

1

300 x 115 x 12 mm

2

>

292 x 148 x 15 mm

1

486 x 115 x 12 mm

2




594 x 295 x 3 mm

2

287 x50 x 12 mm

2




®

Cam Bolt x 24

e

4*35mm Screw x 20

6*30mm Dowel x 18

3*12mm Screw x 24 Hold hands x 6

° &

4*18mm Screw X 8

=

-

100*100*22mm x 2 Tergite x 2 Caster x 3
4*14mm Screw X 28 hinge x 7 Pivot x 8 hinge x 4

© ¥

3.5*12mm Screw x 66

© @

4*8mm Screw X 4

v A

Screwdriver x 1

© o,

Suction sheet x 4

6*14mm Screw x 20 Runne 300mm x 2

°

Runner 300mm x 2

S

1P

| % =

49 | 3 lo
aravaEs

G |

A

Ligirvts' g anm and of 1he weood doen
A fap tealvery imin ok

Klsbain S wn Cngds dis Holerd ek lachi
i Ll hleedan S halb in das Lok
Colioz Bgdrrman une axdndmebs du goajon
& b =l lapoiesz & michamin dans s tod

Gy sorey Girm Dol imio the
Iridfaachard anchor

Sudwmsber S den Mocksshalnin
Vissar douobisinl b boolom da
g tlane b g Lledge
virschily it oo Gdhwindeankid

Lighillp glont s indil dhameitd driil OOfusaer 00
a2 mmel by iraering dowel [oiS
Ficzbar

Elebeti Se den Helnd bl ki ol wnd
weriztrohen e tho mi dar i Flails
Il i Cafpe 'n Lbcher secken

Lkl liggdaprnni be jroeaen en boa, el
iz io b b ceeaibpes plosgaes e
nstramt e chimales dam dei Tmas

Errew ihe remingk Armity
¥iio Wkt gnitkan
Erhrautén e 2in Cemincg
=i i s weriepeiae Posd
Lsem1.

rsar termpmenn b come

m podon  irou e

Lisnil (sbinner, slan yrid oee Die |.'|.l1urdu'ml'l1|'|,' 15 L B i
please obgn the o varboaly and Boew © in Sy

B o use an mmcinc dnll. pedse mopas] 4 1o geanwth § ovwer ppesd

i Fevh s | 0wl SNy "iltl-rl,| s (50 fTviem pra e MARARNG e

Sehr geehrter Kunde, wenn Sie die Steckernockenverschraubung verwenden, um
dieses Produkt zu installieren, richten Sie bitte das Loch vertikal aus und schrauben
Sie es langsam ein. Wenn Sie eine Bohrmaschine verwenden, stellen Sie diese bitte
auf ein Zahnrad mit geringerer Drehzahl ein und schrauben Sie sie dann senkrecht
ein. Auf diese Weise kann Ihre Installation reibungslos verlaufenVielen Dank fiir Ihre
Mitarbeit.

Cher client, lorsque vous utilisez le raccord de came de connecteur pour installer ce
produit, veuillez aligner le trou verticalement et le visser lentement. Si vous utilisez
une perceuse électrique, réglez-la & un engrenage a vitesse inférieure, puis vissez-la
verticalement. Cela peut rendre votre installation fluideMerci pour votre coopération.

Fank. you o yout conpersion




Step1
Schritt1

Cam Boltx 2

Runner 300mm x 1

Step2
Schritt2

® ©& 6
S

Cam Bolt x 2

3*12mm Screw X 6

{%,,
Runner 300mm x 1

6

1
Ooﬁj




Sten3
Schritt3

W
H
s

6*50mm Screw x 2

Sted
Schrittd

oL

Cam Bolt x 4

@@

2%

Magnetic impact x 2




Step5

Sch ritt
%\‘\

Cam lock x 4

Step6
Schritt6

@M ©%

4*35mm Screw X 4 6*30mm Dowel x 2




Step7/
Schritt?

Cam lock x 4

© z

6*30mm Dowel x 4

Step8
Schritt8

Cam Bolt x 6




6*30mm Dowel x 6

10

Schritt10
P

@
¥

Step9

Schritt9
Cam lock x 6
Step10




Step11
Schritt11

© =z 5

6*30mm Dowel x 6 %]v

4*35mm Screw X 6

Step12
i &
Schritt12 ®5 g ‘®
N
6*14mm Screw x 20

Caster x 3

11




Step13
Schritt13

3.5*12mm Screw x 9

hinge x 3

Step14
Schritt14

© &

3.5*12mm Screw x 9

12




Step15
Schritt15

3.5*12mm Screw x 12

hinge x 4

Step16
Schritt16

©

3.5*12mm Screw x 12

13




Step17/
Schritt17

14




Step18
Schritt18

e . @ z Ty
™M T [» @

‘ >
§"‘ %
~ / .
™ ™ \

i =~

4*14mm Screw X 8

Step19
Schritt19

4*18mm Screw X 4 Suction sheet x 2




Step20
Schritt20

4*14mm Screw x 12

Step21
Schritt21

Hold hands x 2 =

26mm x 4 h

3.5*12mm Screw x 8

4*18mm Screw X 4

16




Step22

Schritt22

3.5%12mm Screw x 16

Step23

@ww S

’
’
’
/
’
o

Schritt23

m
l/

™

4*14mm Screw x 8

17




Step24

Schritt24

Pivot x 8

Step25

Schritt25

v

©

4*35mm Screw x 10

18




Step26

Schritt26

Step27




Cam lock x 2

Hold hands x 2 @

Runner 300mm x 2

4*8mm Screw x 4

Runner 300mm x 2

Step28
Schritt28

Cam lock x 8

Step29

Schritt29

3*12mm Screw x 12

20




Step30

Schritt30

Step31

Schritt31




